LABJNDuZ2 standard lightnessL*
Yn=L* w

L* nc_l O’
L* | aBanDu2=[IN[(A 17+A2a)I(A 2nA0n)] (Yno/100<Y<=Y,0)
L* \(3.6)=174L* ,(18)=396 L*\,,(90)=616

log[L*/L* ,]=0, m,=0,33
L* ;=49,L* ;=396

L*40=615,73, Ay=1,500, ¢=0,84
Liisene Ar s Ao
3,67
L ]
u
1Y,=3,6

application
range
1y,=18

1 Yw=90

LABJINDu2
tristimulus value difference
YacmL*w  nc=100,
L* LaBanDu2 =[IN[(A 1r+A2a)I(A 2nA0n)] (Yao/ 100<Y<=Y,0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
AYp0=0,67, Apy=1,500, ¢=0,84

dY;4=0.15. A1=0.014, Agn 0,0048
dY3,=0,04 Y,=18, dY=0,15

L*,=396 dY,=0,15 dY,/Y,=0, 0084

»
p

application
range
1Y,=18

log (AY/Y) LABJNDu2
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

L* Laganpuz=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
AYIY=Agr A 1Az YIY

(dY/Yy=0,0075, Ayl
(dY/Y)=0,0084, A =0 ,Ag
(dY/Y},=0,0132 Y, 13 dY=0,15

0, O

log(dY/Y)=-2,07, m;=-0,To> =~ _ _ _ application
==3 - " range

L* =396 dY,=0,15 dY,/Y,=0,0084
1

1
1Y,=18
Yw=90

Yn=3.6

log (Y/AY) LABJINDu2
- tristimulus value contrast
C.=(YInY) Yol w - =100,
L* L aBanDu2=[IN[(A 1r+A2a)I(A 2nA0n)] (Yo 100Y<=Y,0)
YIAY=Y/[Agn(A1ntA2nY)]
(Y/dYy=132,52, A,=1,500, ¢=0,84
(Y/dY)g=117,67, A=0,014, A, 70,0048
(Y/dY f75 42 Y,=18, dY=0,15
L*,=396 dY,=0,15 Y,/dY,; 117
log(Y/dY)=2,07, m;=0,13 - ~

range
L =18
' Yw=90

1
: application
1

Iy

Iog(AY/AY )

LABJINDu? relative standard lightnessL*/L* ,
Y=L w

=100,

LAL*
L* | aBanDu2=[IN[(A 10+ A2n)I/(A 2nA0n)] (Yn/100<Y<=Y,0)
L* \(3,6)=174* ,(18)=396,L*,,(90)=616

t*goll_* \=1,55, A=1,500, ¢=0,84

L 70,014, A= o 0048
L¥3,dL¥=0,43,LX=395,50 =1

log[L* /L* ,J=0, m,=0,33
application
range

Y,=18
Yy=90

] [a=36

LABJNDuU2 relative
tristimulus value difference
Yoc=L*w - -nc=100,
L* Laganpu2=[IN[(A 1n+A2nV)J(A 2rAon)] (Yae/100<Y<=Yye)
dY/dY,=AgnA 11+AanYI/dY,
dYg/dY,=4,43, Ayy=1,500, ¢=0,8:
dY,gdY,= A10014A2:,0
dY ¢dY,=0,31 Y,=18, dY=0,15

AY/AY,

L*,=396 dY,=0,15 dY,/Y,=0, 0084 s
7

application
1 range

1v,=18
Y=90

Y236
log [(AY/Y) I (AYIY)] LABJINDu? relative
_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,
L* Laganpu2=[IN[(A 1n+A2nV)V(A 2nA0n)] (Yae/100<Y<=Yyo)
@AYIYYAYIY = (A Ao Y)Y (YY),

(dY/Ypo/(dY/Y)=0,88, Ay=1,500, ¢=0,84
(dY/Y)g/(dY/Y)=1,00, A, =0,014, A, =0,0
(dY/Y) d(dY/Y,=1,56 Y,~18 dY=0,15

048

log[(dY/YY(dY/Y)J=0, m=-0,13 1
* =396 dY,=0,15 dY,/Y,=0,0084]

1y,=18
=Clp log

application
range

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDu?2 relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

L* L aanDu2=[IN[(A 1n+A2n)I/(A 2nA0n)] (Yn/100<Y<=Y,0)
(VIAYY(YIAY), =Y IYIAY Y)TA onAqrAgr VI (Y/AY),
(YIdYhg/(Y/dY)=1,12, Ay=1,500, ¢=0,84

(Y/dY}/(Y/dY)=1.00, Ar=0.014. A, =0,0048
(Y/ind(Y/dY =0,64 Y,~18, d\=0.15

L* =396 dY,=0,15 Y,/d¥-, %r7”

v < 1 application
1 range
1y,=18

Yy=90

YN=3.6




